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1. Pemure ypapHEeHHE: a) ,2 + : == ?_x :6) X +2x* —5x—6=0.
X —4 2%=x" X +t2x
—=3x==1
2 PeIHHTCCHCTCMyypaBHeHHﬁZ{ 2y 6) X+5 2" S _ 30—£2x
Py +37=9." T 1 57 8x-2-7
2 2
3. Pemure HEpaBeHCTBa: a) (x 4) >0; 0) (x 4) <0; B)l+225x+6;
(x+ )( —t) (x+5X9—x) X 2%%3
r) 25 oe=dqy 5 <0
2% 4%
4. Pemure cHCTEMY HEPAaBEHCTB: @) § -7 0) x—6
x> 3351020 <0.
x+10
) 11-x X’ —x-2
H) (x+10Xx—11) <0; K) <0; 1) — =0
254 X3
9. Pemute ypaBHEHHE: 5x—6|:
10. Pemure HEpaBeHCTBA: a) 5x—6|<9; 0) 2x+3|_>37.




OTBeTBI:
T. a)3:6)-3.-1:2. 0) 0.
2. (2} (~0,3:-19)
3. a)(=59); 6) (~oo;=5)u{d}u(9+0); B) (-1,5-1]w (03] 1) [-1,5:-1]u(-0,5;0)L0,5:1]
4. a) (-5:-4f 6) (-10;-8]U{6}.
1) (—0;-10); x)(—0;-3,5) L[ 1;+0);

9. a)-0,6;3. 1) (—0;-1) U (- ;2] L (B;+0).
10. a) (-0,6:3); 6) (—o0;=5]U[2:+0).



